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W}?ﬁﬁm AATEdE ud)
INSTRUCTIONS
: frdar

"L

\&kﬁ.‘ 4
Paper I has two parts : Part & Part 11
T 1 3R 9T 2

‘ach section carries 50 objectives type of questions.

' ‘-;~'ﬁ$ﬁ$mﬁmﬁr%m$somﬁﬁ@%r

3. There will be four possible answers to every question. Candidates are required to fill correct

answer in the OMR sheet with Black ball pen only.
H@EW%WﬁaﬁqﬁﬁW%lwﬁmﬂﬁwﬂawaﬁwm die 3

wiia /& a9 Q@ R



4. For each correct answer, 1 mark will be
answer.

Wﬁﬂﬁw$m1mﬁmﬁa%3ﬁvﬁfﬁméﬁwosmw%
NITQT |

granted and 0.5 mark will be deducteq for every , )

0 D

5. Ifacandidate gives more than one answer, it will be treated as a wrong answer 3 half
be deducted. There will be no penalty for questions left unanswered.
aﬁmwwmwwﬁmm&n%aﬁaﬁﬂm ST A
mo.swmmwlaﬁé@mzﬁmmmﬁmml :
6. Candidates should not mark in the question paper. They can use blank pages prov!’/g;ie’d int
question paper for rough work. . e
WWW*IWWWWHWI?W@&%WW@}%’WQ

e % :
g . N/ 3
7. To be eligible to qualify, candidate must obtain minimum 40% m}r chin Part 1 & | f
separately and a minimum of 50% aggregate in total. ;
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PART | : REASONING(

DIRECTIONS: In each of the following questions, a number series is given with c(
missing. Choose the correct alternative thatwilledntinue the same pattern.
Frferiad siat 3 S0l @ wet & 1o gl &1 fa o W @ g3 @ wEh e
R B WY — |
(

1
468 (d) 354 [

Q1. 32063144,275,
@ 554 (b) 5
Q2. 8121827,

=N

((;) 37- d) 4

(€) 1484 (d) 1793

= @ =< d) =

13



DIRECTIONS: In each of the following questions, a letter number series is given with one

term missing as shown by (?). Choose the missing term out of the given alternatives

e Tl oiat @ Soft & el 9 UF ofF MEe B AR RY T e B g3 @ e iR
N Rad x@mE B (? ) WY — |

R Q5. N5V, K7T,?, E14P, B19N ”
(@ HOR (b) H10Q (c). H1O0R d) HOR
" Q6. J2Z, K4X, 17V, ? , H16R, M22P
7 @@ 11T (b) L11S (c) L12T (d » LT~
Q7. C4X F9U IM6R, ?
tl (a) K25P (b)  L25P (e) L250 (d)
DIRECTIONS: In each of the following questions, various b@ﬁﬁ?’bf an alphabet series are

given with one missing term as shown by (?). choose the misgg‘\%gggterm out of the given

alternatives.
9

Prdwr P abaremlt 2 A & et % o e o e T 2199 Ry T

‘

] yeel @ G BT AHE 3R Raw = ar (7)) 99— P

pvd
Q8. AB.DEF, HIJK, 2, STUVWX |
(a LMNO() LMNOP (9= MNOPQ  (d) QRSTU

GO9. AYBZC, DWEXF, GUHVI, JSKTL:27
(@ MQORN () MANRO () NQMOR  (d) QMONR

In the fgf[p}.‘.mg questions you have to identify the correct response from the

DIRECTIONS: W
given premises stated a ding to following symbols. :
AR SR g St Ry g REAl B MR W6 F

frder - R Ry TP W

®) 8 © 12 d 16
%



A

- jon' * division’, | -
Q 11. If - stands for ‘additions’ , « stands for suls)tractlon . fT ﬁ;a‘zﬁ; f:l:ernlativeg isl(,:
for * multiplication’, ~ stands for" equal to’, then Whlc!.I of,the 0 ol
afe — @1 aef & ‘additions’ , «— @1 af 2 * subtraction’, ‘;g :? R
multiplication’, /@1 arf 2 “ equal to’, @ # 1 A 37

(@ 743161174 b) 3167123674

(€ 55731274 (d)

21562276

Q 12. Find missing numbers.

AT T N |
2 9 | 1 d
8 | 5 |13 ] -3
7 1?2110
6 4 110 | ?

(a) 3and2 (b) (-3)and?2

Q 13. Find missing numbers.
S HEAT A BN |

i

(a) 19 24 (d 12
Q 14. Find the missin
g "eE&r 9|
67
78
?
( (a 95 (b) 98 (c) 105 (d) 111

Find missing number,

7 9 8
2 4 3
3 7 6
16 | 32 | ?

@ 17 ® 2. - (@, 47 @ 7



A

DIRECﬂONS In each of the following questions, a letter number series is given with one

term missing as shown by (?). Choose the missing term out of the given alternatives
ﬁg“'{[ ﬁﬁ%f@ﬂ 3w B A B ye Uh A mad & N fqu qu o yeen @ ga ol s adte

e I @ () W -

Q 16. vAFI : 13:: VvADD =

@« 12 (b 22 () 21 (dy 24

Q 17. RUST: 9687: :TSUR:?
(a 7896 (B) 7869 (c) 7689 (d) 6789

In each or the following questlons four words are given, out of which three a

DIRECTIONS:
alike in some manner and the fourth one is different. Chcose the odd one.
frdy - ﬁmﬁfﬁqammﬁanmmwﬁlﬁ‘mﬁﬁmf?mﬁaﬁﬁﬂwwmru
R 9rT o faww & o 97 faww o= s | /
Q18. () Wood/asdl ) Cork/Tﬂ'g 4

(c)  Stone /t@R (d)  Paper [ TS
Q19. (a) Commander /HasY (Ig)’ Commodore/FIER

()  Admiral /TsfRa "'i(‘d} Brigadier/fsaifgaxr

In each of the following questlons certain pairs of words are given, out of

DIRECTIONS:

which the words in all pairs except ongfbe Ear a certain common relationship. Choose the pair in
which the words are differently related. s
=i B oS fey v & R @ UF WIS &l BIs IR IR

ST 9% TF el 51 SX il g | 3T 2

(b)  Bronze : Statue

draer - wfr
(d) lron: Rails

drer : ekl
(b) Eye :B!ind

3 3ET

.o w@E
Ear :Deaf
B B 34

(d) LegiLame
AT @ AT



A

DIRECTIONS: i each of the following questions, four n“mgﬁézsaﬁhgé"gg- out of y,
are alike in some manner while the fourth one is different. € differgn,
rest.

Prfwr : PrafRem wedvs wor o wre sl g &1 Ry B gy g ‘e
U 3T 8 At g8 arenr e sie o) |

Q22 (a) 25631 (b) 33442 (e) 34424 (d) 52163
Q23. (@) 2468 (b) 2648 () 4826  (d) 48
Q24 (@) 312 (b)  4:20 (©) 642 ) 763

Q25. |am facing in Southern Direction I turn right ar!d walk 2Q m. Then | turn right 5
10'm. Then again I turn left and walk 10 m. Then again | turn right and walk20 m_ f;
once again | turn right and walk 60 m. In which direction | am facing from (§gg§¢.ng) Ini
2 ,

. ﬁ“ﬁgmﬁwfﬁlﬁmﬂsaﬂaﬁwoﬁmé!ﬁﬂ “”H@T\Hmhm
ST TSI 20 A, o Eﬁ:ﬂﬁ"ﬂ%’aﬁ’soﬁ.mélﬁaﬂﬁ?f{.ﬁfﬁﬁn‘ﬂiéQHﬁEz?

) s
(a) North/ Sz (b) North West/ W%“T
(c) East/ gxq  (d) North East/ g% qxd

Q 26. Eight people A, B, C, D, E, F ,Gand H are plagéd as shown in the diagram. Al
in the outward direction. If al| of them move antic lockwise to three places then,

38 AT A, B, C,D,E, F, G sk H R LT B 3R e B 9 2| o w
faudie feem % &7 vor G0 43 # qq £

(b)  Eis facing East

5 E @ # e
() ¢ B facing North West (d  Ais facing South
. H SR aRem @ sk A <ferr 9y i

‘.i_O'n what dates of March, 2013 did Wednesdays fall?
7 FHAR & 7 a1 2013 B B W T By

(@) 6,13, 20,27
() 512,19, 26
©  4,.11,18, 25
@ 7,14,21, 28

'



A

@ 28. Awatch which gains uniformly is 4 minute slow at 9 A :
: .M. on Sund i
sec. fastat 9 P.M. on next Friday. When was it correct? PR AELTS RIS I

@q@ﬁmmmﬁﬁaﬁ?ﬁ%?ﬁmmmaﬁqﬁrﬂaaﬂiﬁm ¢ I[HAR
wga@Mﬁ?ﬁ'15mﬁﬁﬁwﬁﬁ,sﬂﬂﬁﬁmﬁfﬁwmﬂﬁilmﬁ?aﬁm

(@ 2 AM. Thursday (b) 6 P.M. Wednesday
() 1AM. Wednesday d) 6P.M.

Q29. The minute hand of a clock overtakes the hour hand at an interval of 64 min -

t

ﬁmeﬁ;o% m :rg§3%goes the clock gain or lose? u eS;ﬁf:orrect
o w2 TN ¢ B 64 Firie S siTEl W AR T 2 o R Rt A udl Rl
R 3R 4 & ? .

(@) 43— minute loss (b) 32% minute gain \4
9 . : ry
(c) 33, minute gain (d) 321—'} minute loss //ff

&

Q30. In a row of gi.rI.s. Kamla is 9% from the left and Vee%j%ﬁ*“ from the right. If they
interchange their positions. Kamla becomes 25t from the left¥How many girls are there in the

row?
el @ ufde A TEem, A A oft & e AR 16l ¥ AR ¥ oeh Rerfy arore A
qee o &, O e 3 91 F 258 B widh ¥ o gE ufda A fa arsfedt &7

(@ 34 (b) 40 (e) 36

iind the other in a playground facing the instructor.
firi. Meena is in front of Sheena, but behind Gayathri.

Q 31. Five students are standing‘ one b
Malini is behind Anjana, but in front of &

What is the position of Meena?
it feemeif & @ 99 @ Yo T ufted #1 AR F| AWl v @ 9 & fag
o) 9 &1 A9 3 Reifa sagy?

(b) Extreme First

(c). (d)  Second from first

'a‘-"; an Swapna. Lavanya is elder than Swapna but younger than Sita. Suvama
{ffpth Hari and Swapna. Swapna is elder than Hari . Who is the youngest?
y A3 %|mﬁwﬁa@%ﬁﬁjmﬁm%|wmgﬂamﬁm%1

(b) Lavaya (c) Suvarna (d) Har

3. Cis A's father’s nephew. D is A’s Cousin but not brother of C. How isDrelatedto C.

' C,Aa‘nﬁmmq'cﬂwD,Amaﬁvmé%qﬁC o wg 451 & D @ C &1 6y
| .

(b) Sister

(a) Father (d) Aunt

(c) Mother



ing football is the younger of the -
d to Nitin, *That Boy playind "o I related to De Ot
c?aﬁg'htgre (c)efp ;1};?2;?1;?51\1\/'\5:?6 How is the boy P@gfngg‘;ogtg% N far & quﬂpgﬁ'H;ﬁ |
Quas A A F @, ol TEHT Bl e @ T G 27 A,

BIRT Y 1 g8 weat gedlel Wl v B
\ € T (b)  Nephew
.(a)  Son (d) Cousin

(c)  Brother

Q 35. How many triangles are there in the given figure:
A9 Ry my R A R B #
B

A /
@ 16 ©) 14 © 8 ., W
: ; 2 rr

Q 36. How many rectangles are there in the given figure? s

W fag Ty fom ¥ el @ W wa B Vs

(@ 24 (6) 16 OFF 4 14

' b,

Q 37 Statements/ @I 3;&&;?“*

(@)  Allteachers are experienced./: a7 et &
(b)  Some teachers are spinsterS./, 58 swamd iRy ¥

Conclusions/ fwad FL
(I) Some experieng J grg spinsters/ B H¥Ie § 3o Afaaa &

‘experienced I5® sfdafea gua &)

(@)  Only concl «a or I follow (b)  Either conclusion I or II follow
e PREFLAT I eRe 8 8 o L 11 TR TR 2

(). Bgth_f, nclusion I and II follow (d Only conclusion I follows
ATERE 1 AT 11 STeReT 3w & el Fepd 1 arRmor B 21
Q38 Statements: - / e : '
- &% (a)  Some cats are dogs / 7o el o &

w5 () Nodogis atoy./ s I Raeiar =) @

(#/" Conclusions: | Pregd : .

P I Some dogs are cats / BB F el &)

Il Some toys are cats / B9 e fafeendt &

il Some cats are not toys. /B fafeerdt Rasihy st
V" Al toys are cats./ w:f} Reeiy fafeerat &) ik

o




A

(a) Only conclusion | and Il follow/ @ae farad 1 3w 111
. FTER F 2
(b) Only conclusion Il and 1l follow/ @aa fawesd 11 s [11 srERoT
Hd 2
(c) Only conclusion I and Il follow/dda fRepd | 3R 11 AT &
(d) Only conclusion I follows / Haet feed | sgwRer FHear &

DIRECTIONS: In each of the following questions, various terms of an alphabet series are
jven with one or more terms missing as shown by --. choose the missing terms out of the

given alternatives.

P ﬁmf%ﬁaaavhmaﬂaﬁﬁvﬁ$uﬁﬁwamwﬁarﬁmww%|ﬁaﬁnw

get @ A B qHA 3 Raa wH #1 Ry -

Q39 acb_ce_f_ l

(a) dde (b) cde () dee

Q40. rtx_sx z txy_ _yz
(@, yyrxs () yysxr (¢ 'y d) yyxrs

-~

Q 41. Unscramble the letters to frame a meanmgfuf Wesd Then find out the correct numerical
position of the letters:
fay Ty eRl @1 Fefgel wu # =afled

BCUSMELRNA
12345678910

o o
4 (b) 61432587910

Y

@) 21346897510

(b) 3157104269 A9 39428105176

relatronshlp between Nitrogen, lce , Air
ArgeioE, I o a1 § Waw <uiar 87

+ O

" ® " of

242. Which diagram



_ s , Car ,Vehicle
Q 43, Which diagram depiots relationship between B

T B T anea ¥, G, @ A ¥

gartar 27
(a) @ (b) .
- " OF

Q 44, If CUSTOM s written as UCTSMO then how PARENT will be written in the g,

af¥ CUSTOM 1 UCTSMO, RFeR & T PARENT @F I ﬁiﬂjw feriry
(@ ERAPTN (b) TNERARZ

() RAPTNE (d) APER

Q 45. If CAT is coded as 3120, what code number cany 6.9
afe cAT B 3120 Forad # 9 NAVIN B ST HTHM

/(a) 14122914 (b) 492%‘;4654
~ (c) 73957614 (d) 43245654

Q 46. Ifin a certain code EDITION i

en as 3891965, then how TIDE will be wri
code

afz EDITION w1 3891064BRMaY & 7@ TIDE @ S ag Wt 4 ar R

(@ 3819 > 1983 (© 1839 (d) 1586

E4G3 854, foradt & 79 GaGE H1 S T T F T fr?
/157 (b) 2834 () 2824 (a) 2814
Direction§X ach of the following questions is based on the following alphabet serié
i WWﬁﬂéamﬁﬁmwmwﬁa%| -

ta

/ ABCDEFGHIJKLMNOPQRSTUVWXYZ

Q 48. Which letter is sixteenth to the right of the letter which is fourth to the leftof I?
B W R | %mﬁﬂﬁv}amiﬁaiﬁﬁﬁm%}

i ® T © U @ V



A

Which letter is exactly midway between G and Q in the gi
is given alphabet?
A T AR H G g Q @ g R g1

(@ K (o) L () M (d N

Q49

50. Which letter is midway between the eighteenth letter from the left end and tenth letter

from the right end of the given alphabet?
I § SSRAT G TR RR X owal FER @ W B AT AER 87

(@) < Noletter by K (c) Q (d R

PART — II : ELEMENTARY MATHEMATICS (3{dl ‘lllalﬂl

1 2
Q51 Ifx+= =5, then -———'
~2 —ox i3 is equal to

zTft*~><+——5 2 a’r——g—mzﬁwg?
@ 5 (b) % ) 3 @ 3
q - 2xy x3+ y .
Q52. The simplified value of ( 1- 5—— Y ——) +( & 3 xy). is
2xy e ke
(1 x?-}-yz) ( 3xy)sﬂaﬂmﬁaﬂiv’f
1 1 1 1

@ =5 b)) w7 & 5 d =
253, Find the value of

TP HIA f

1: 999494 % 99.
5 495 |

(a) goo'o"b" (b) 99000  (£)90900  (d) 99990

)54, If #11 thenthevalue of x5 — 12x* + 12 = 12 + 12x— 1s
&"11 B A1 - 12x* + 127 — 12 + 12x - 1 1 A T |
, l’(a»)’ 11 b) 10 @ 12 (@) -10

88 1t p = 101, then the value of

Yp(@*—3p+3)—1is

fyp=101,8 @

Vp(pz-—3p+3)—1gﬂ'cﬁrqmaa@|

(a) 100 () 101 (6 10 d) 1000

11



Q 56,

Q 57,

Q 58.

Q59.

Q 60.

Q61.

Q62.

(L
o' "
i‘]"‘x

. Is
If a5 = 11 then the value of a* = 3318

T B
A e =118 Al a2 33120 AT L 58 @ 1
(@ 1331331 (b) 1331000 (c) 03

If 11y = V112 + V343 then the value Ci;;;fls@’ﬂ?
& 11y = VI12 + V343 al n T A ©

(a) 3 (b) 11 (C) 13 (d) 7

) lue of 8xy (x* + y3)is
|fx‘“y=w/_3_andx-—y= 2, then the va ’
M x+y=y3akx—y= V2 aasxy(x*+y )W:THWI
@ 6 (b) V6 (€ 5 (d) VE

If 2% =3¥ =62 then ( = +§ +) Is equal to

AR 27 =37 =62 & (3 42+ Rrwd aeree &7

X

a?

(a)0 01 @3 (d) -2
If x =3 +¥/2 then x2+ x—lzis equal to

I x=3+7 % Al a2+ 2 1 4 g g

(a) 36 (b) 30 (c) 32 (d) 34

Find the value of

0.355X 0.5555 X 2.025 _ "
0.225X 1.775X0.2222 ' cqualto

0.355X 0.5555 X 2.025 _ .
—— B WER 27
0.225X 1.775X0.2222

(@ 54 . (8) 458 € 45 (d) 5.45

(0.0192‘4)}-‘5 is equals to
(0.01024)™ & arey 7

i
@' 0.4 b) 40 © 004 i i
Qjé,ﬁll'ThE value of (243)0'16 X (243)09 ; : :
a (243)18 y (943004 W(mw)_{ s equalto
0.16
. o WS @ 004



A

nd b are two positive integer such that a® - b* =19 then value of ais

Q 64- faa |
% a 3R b eFTeTs Qs § weR € a” - b2 =19 2, @ a T W A B
@ 19 (b) 20 € 9 d 10
b5, +/(798)% +D404.X 0,798 + (0.202)% + 1is equal to
[(798)7 + 0.404 X 0,798 + (0.202) + 1 P aXER 87
0404 -

@ 0O () 2 (€ 1 (d)
The sum of three consecutive odd natural numbers is 147. Then the middle number is

Q 66. _ : ,
Ay fredl A9 o v wrga |t BT arT 147@,??[@?3@?@!@"17
(a) 47 (b) 48 (c) 49 d) 51 €
d g ofithat number and his
GJf/ f
7 ,,J*’i ;gwr.”‘ 4
f/jiff 9 Gl 6l % EIGEGERS

Q67. A studentwas asked to find -1%- of a number . By mistake he foun

answer was 250 more then the correct answer . Find the given number
o et R Rl s @1 — e B R e T

forar | ST SR FE IR W 250 A A7) &9 wel S0/

(@) 300 (b) 480 (©) 450‘%‘
%&ajfdés"é respectively. If one number is 84,

s
d) 500

s

Q 68. The HCF and LCM of two numbers are 1
»-}_1%7?‘ 5-5

then the other number is i '
3 TR @ 7Y, 9 o9, HA 12@3@6@%’&@@@134%ﬁ1wmm
?ﬁ I i ay”

(a) 48

{c) 72 (d) 96

Q 69. The value of

cos260°+4 sec?30°— tai?:

67
€
12 12

tan57%+cot37° 2
tan33%+ cot53°

(a) tan 30° cot 57° . (b) tan57° cot37°
(c) tan33%cot53° (d) tan33° cot37°



. s A
Q71 if TIH0S0 o the value of sin®0 is

Sin@-cosg

?I[% sinf+cosg =3 2 Al sin?*0 &1 7 @y 27
Sin@-coso

1
(a) 21-56- (b) ; 3

(dy 2
9
Q72 Ifsing - cos 6 = ~ and 0°<B<90° then the value of sin 6 + cosg is
13

AR sin 6~ cos 6= L g 09<9<900 2, Sine’*COSeaﬂ'qﬁgﬂ'ﬁaﬁﬁrm

13

13 1

() X (b) = @5

Q73. |t a?sec?y - bztanzalc = ¢? then the value of sec’x +tan?x is €qual to (‘- :

U,
M a’sec2x - p2egn2y = o2 & sec?x +tan?x o A e
(?T&-"iﬁﬁgqb2¢az) ‘ e

P

s
? b2-g2y32 b%+a2-2c2 c) b?-a?-pc2 ‘{’ ;yid) b2 g2
DS e mgme T g o
Q 74.The distance between two parallel chords of length

%%\cm €ach in a circle o diay
10cm s & v,
ﬁmaﬁiﬂ.ﬂﬁﬁm?ﬁiﬁﬂﬁm .‘:far%,f%m‘clc‘rf?mam1own
@  6cm (b) 7em S 8em (d) 55cm

Q75. ABCD s 5 rhombus. A straigh

dhrough C cuts AD produced at p and AB
at Q. If DP=-21- AB then the ratio of

elength of BQ ang AB js
ABCDWWW{{F{?. "'_,_?ﬁTﬁgCﬁE\‘rl‘\’fﬁ%lﬁ‘éﬂADﬁﬁ‘gP f
O o 1

F5/7P=3 AB W BQ I AB T 319t sy 5% |
1.2 © 11 d 31

d)  Acute triangle-



A

Q78 ‘rhre;a::]l(;c‘f:s of diameter 10 cm each are bound together by rubber band, the length of
the fubber
~ @ﬁmmﬁ?ﬁ%@ﬁwﬁmﬁ*mﬁwmmmmﬁlm

(a) 30 () 30 + 10w (c) 10T (d) 60+ 20m

q79. Ariver 3 m deep and 40 m wide is flowing at the rate of 2 km per hour. How much water
will fall into sea in a minute?

UF 3 W@frﬁmmﬁraﬂ@ﬁ'ﬁzﬁﬁhﬁauﬁaéaﬁmﬁm%lﬁmﬂﬂﬂ
ﬁgﬁfi{:ratnﬁ’rasramaqsﬂaam

(@) 4,00,000m3 (b) 40,00,000m3(c) 40, 000 m? (d) 4 ODO m?3

Q 80. If the radius of the base and the height of a right circular cylmder is mcreased by 10%
each then the volume of the cylinder increases by:

%ﬁﬁaﬂa%waﬁﬁwmnmﬁaﬁmqﬁf%gﬁﬁmmﬁama%

! s ¥ W i ST w | ‘,»j/;f
&
@ 3.31% b) 14.5% € 33.1% & (d) 19.5%

Q 81. The amount of concrete required to build a cogcrete cylindrical pillar whose base has a
perimeter 8.8 metre and curved surface area 17.6 sq amefre is (Take m = — )
6 mﬁaa%waamwﬁﬁﬁraaaﬁqﬁﬁtaam%aﬁqwq@wmwsﬁﬁm
% # a F fhaAr dre o | (agrnqﬁgq ‘i‘-‘riﬁ )

(@ 8325m® (b) 97wmﬁ/ © 105m®  (d) 12.32md

Q 82. Some bricks are arrange an ‘area measuring 20 m?. If the length, breadth and height

) of each brick is 25 cm, 12. 5 con'; d 8 cm respectively, then the number of bricks are:
- ﬁwmwlaﬁwﬁaﬁmzsﬁﬁ 4lgrs 125 4

(b) 8000 (c) 4000 (d) 10000

adth and height of a room is 5m, 4m and 3m respectively. Find the length

fboo that can be kept
mmmmmm 4 L 3R 3 {2 9W GEQ 9 919 B B

ﬁma}wmﬁmwmmél

5m (b) 60m © 7m @) 5VZm

A solid metallic spherical ball of diameter 6 cm is melted and re-casted into a cone with

‘*’dlameter of the base as 12 cm. The height of the cone is
Wa‘rﬂrﬁamﬁaaﬁﬁfwmsﬁﬁr %ﬁﬁwwqﬁwm

AR ARy 12 QA N FTT T & | A Ug A HAR 8-

fa) 6cm (b) 2cm (@ 4cm | (d) 3cm



of two right circular cones of equal height be 3. 4y
.

; i te
Q 85. If the ratio of the diameé _
ratio of their vofumg%viil be o @ @ @1 A9 34 & a9 Wﬁ:ﬁ DT AU F7y B,
AR AT drel 2 G : d) 27:64
@ 34 () 916 (©) 169 X
| checking it was found that two

' On
f 20 students is 15. —
v?rgr?ély ‘:T:;e?eaasnamaar:;sao If wrong marks obtained are replaced by correct Valygg

then the correct mean is # s 6 T I T S
2owm¥a%aﬁ$rwwmtﬁrﬁma%aﬁwzﬁzﬁmmwm! ;

® BT & WA 3w 4 AR 8 ¥ a<el AT A A Wl y
(@ (c) 15.35 @) 16 2

15 (b) 15.15 o
Q 87. If the difference between compound interest and simple interest on

i - the sum investedtis:
money for 2 years at 8 % per annum is Rs 768/- then et
me&wéﬁ%ﬁammﬁwmﬁwwﬁmw

T 3R 768 UL ® T I8 TN FqT 27 Mf
(@) Rs 1,00,000/-(b) Rs 1,10,000/- (c) Rs 1,295999;1- (d) Rs 1,70,000;

sjmple interest and compoy

Q 88. On what sum of money will the difference between:
for 2 years at 5 % per annum be equal to Rs 63/-: é”i "

St
v

ﬁiﬁWﬁWsHﬁWHﬁﬁﬂﬁZﬂﬂw
(a) Rs 24600/~  (b) Rs 24800 /- “'%%Rs 25200/~  (d) Rs 25500/
S

Q 89. A sells an article to B making ,.- fit6f % of his outlay. B sells it to C, gaining

A
Fadely

sells it for Rs. 600 and incurs a loss{,fg_f:of his outlay, the cost price of A is
1 “‘...C & : ¥ !
A#Wﬁmﬁ;ﬂwlwﬁﬁ@ U G B B 99 9| B Y 20 uferg an
C® & far sk ¢ Y59 J0/FT ﬁa%rﬁmﬁmﬁwmamaimmi & o
®T B I AT Y vd Sen
(8) Rs.600 . Rs.500  (¢) Rs.720 (d Rs.800

Q 90. Ramesh hefidht 10 cycles for Rs. 500 each. He
1 hotig . - He spentRs. 2,000 op ir of:
He sold ﬁv ReIior Rs. 750 each and the remaining for Rs. 550 each.t?rieript?lg ?o!

3 : 1
(8 Gain of 82 % (b)  Loss of 8§ %.

Gai 2% :
(c) ain of 73 % ()  Loss of 7% %



A

alh A7 ey ,f-iece of work in 18 days and B can do the same work in half of the timé
raken by A Then vz\gr In%at'%ggther what part of the same work they can finish in a day ,
: o $l 18 G FRAT 2| B 9 @ B A g ferg wa W & any q=d A

A @

i the, a7 el &1 T A1 E G 4 QA e [ A e i @i e FH |
_— 1 2
B @ & (o) < (c) i d) =

Q2 The rate of working_of A and B are in the ratio 2:3. The number of days taken by them to
O m, finish the work is in the ratio
Bg AWB?WW"’”’*"WZBcﬁarjmaﬁélq:ra%gmzﬁmeﬁtgﬂm%mﬂﬁfﬁf

¢ 71 B?

€1 (@ 2:3 (b) 49 € 32 d) 94

ool is 3 : 2. If 20% of the boys and

g3. The ratio of the number of boys and girls in the sch
f the school ,gmdents who are not

25% of the girls are scholarship holders, the percentage 0
scholarship holders are /s
' AR 20 T ASH 3R 25

rtaip Wﬁaﬁaﬁaﬂ?mﬁﬂ@rﬁsmmmﬂw; ;
Mwﬁﬂaﬁm%ﬁaﬁﬁﬁw%mﬁa@ﬁmwmﬁ%mﬁ

R et B
80

(@ o6 (b) 78 (c 1 (d)

/- Q94. A Train passes two bridges of lengths 800 g{f:ﬁdnoo m in 100 seconds and 60

ung seconds respectively. The length of the Train
qai%amé’rzga’ffmﬂaﬁmﬁm: 800" % sﬁ?aooﬁﬁ%aﬂ?w%maﬂ#ﬁmz

631 100 dE AR 60 WES P T Al L, YA 2 e s AR
@ 80m (b) 90 7 (c)200m d) 150m

; Q 95. In an examination, 52% sti ants failed in Hindi and 42% in Engiish. If 17% failed in both
I 2 the subjects, what percentage diggtadents passed in both the subjects?
Vot Y ¥ iR 42 gfoerd BT Sl 3 arawe & Wi 81 Ak 17
24 aﬁ%ﬁmﬁmmﬁﬁwﬁwgl
33% () 23% (d 18%
innings of a cricket player is 50 runs. His highest score

If these two innings are excluded, the average of the

he highest score of the player is

qﬁﬁﬁaﬁmﬁﬁmaﬂwmwﬁmaﬁwwm
uﬁﬁfaﬁmﬁaamaﬁr?ﬁﬂwmﬁ?ﬁmaﬂaﬁwm

‘ ®) 170 © 172 d 174
' Q7. Adiscount of series of 15% , 20%and 30 % is equal to a single discount of
15%,20%@:30%&%@%, 59 UF e B WHH 87

(a) 50% (») 47.6% (c) 52.8% _ (d 524%



A

. " i is |
Q 98. A dishonest dealer defrauds to the extent of x% in buying as well as selling h go%-
Using faulty weights. What will be the gain percent on his outlay? '

WWWWMWWWMWﬁﬁWWﬁMW@ﬁ
amm%mmﬁmwwmmmﬁmmm? '

2 x*
@  2x% ®)  C+x)% () (2x+ W% @ x+)%
Q9. Aangp started a business in the partnership by investing in the ratio of 7:9. A
3 months A withdrew g of its investment and after 4 months from the beginning B withg

33§ % of its investment . If the total earned profit is Rs 10201/- at the end of 9 months, find
share of each in the profit. Pl

e 2
T 2 IR 9 e B 3T ¥ 3 10201 mwm@amwﬁﬁj_mmfﬁwmm
(@ Rs3535-  andRs 6666/ () Rs 3055/~ and Rs 5555/-
f’.g‘iw'
(©)  Rs4503/-  and Rs 1345/, @ Rs3548%” and Rs 3333/

Q 100. What is the value of log,(log481) ?
logz(109381) &1 A Fq1 -8Ry

(@ 2 B 3




H ™
ssscroc e

Home Shop

CURRENT

Current Affairs June

2017 eBook [1100+

Questions Included]
ook

5% 45¥%

Blog

Contact Us Refund Policy Privacy Policy About Us Q,  Search Products. ..
SSB eBook Current Affairs EKT Book OIR Test 0z
Featured Products

CURRENT, CURRENT B,

AFFAIRS

CURRENT |
AFFAIRS

Current Affairs March
2017 eBook [B00+
Questions Included]

Current Affairs May
2017 eBook [800+
Questions Included]

Current Affairs April
2017 eBook [750+
Questions Included]

ik Jrdrioirde Frioiriok
5% 457 5% 45F 5% 4567
View eBook View eBook

Get 20% OFF
At

shop.ssbcrack.com

! CURRENT B,

Current Affairs Feb 2017
eBook [600+ Questions
Included]
Joirioirk

f5% 45%

CODE: WARRIORZ0



http://shop.ssbcrack.com/

